Exit Ticket Z5 - Tree Diagrams: Condtional
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Sl There are 9 balls in a Correct Answer: ABCD
bag. 6 are blue, 3 are i
Blue red. Explanation:
Red Jenny pulls two balls I I T T e P P P P P P P PP PP PP PP PIPAP
Blue out without
replacement. --------------------------------------------------------------------------
Red
What should replace B TR LR R T P r P P PP T PP LY P PIT PRI
Red the star?
3 n 6
2 ° B
Green There are 5 balls in a Correct Answer: ABCD
bag. 3 are green, 2 )
3 Green are purple. EXpIanatlon:
5
Purple Josie pulls two balls [ I R R ELE
Giseh out without
2 replacement, ..........................................................................
5 Purple
What should replace [N IR EE e e e R R R L R R R EEE TR
Purple the star?

Correct Answer: ABCD
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